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M-I (PART - )

[3]

[A]

919 fae g g REIIA (CHILD DEVELOPMENT AND PEDAGOGY)
3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

g

|«

[

|

Tedl gfs qOET fehe S ?

(1) ddex

(2) §

(3) WI=ad TMeed

(4) oTers fom olR dEEe

LB 1 e Y £ | | R R £ G o
& A R Shadem R,
UoMTeTs oI gMice &9 @ 34
geold 8, Hedl 8 ¢

(1) S~ Faes

(2) wWEel FfaEs

(3) fomETT® AR

(4) TARTHS HAIAE™

frefafag & @ 99 SO
RE 7&f B 7

(1) gean (2) @
(3) =™ 4) fasmm

I8 fhaq Fer 6 “Tpeiaen 9m,
@, T o EEY &l oraer 8 7
(1) e wgo w@q

(2) V- &

(3) o To EEWhie

(4) 9 s

frafafag & @ aF-91 W 3} veq

g@m%ﬁmﬁﬂ%m&m & Jeadq W
?

(1) g9 G919 ST

(2) fera st

(3) IIT A

(4) Tgfasies S
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1.

[

|

[

g

Who developed the first intelligence
test ?

(1) Lavator

(2) Sanguin

(3) Francis Galton

(4) Alfred Binet and Simon

A branch of psychology which
studies how people change physically,
cognitively and socially over the
entire life span is known as :

(1) Clinical psychology

(2) Counselling psychology

(3) Developmental psychology

(4) Experimental psychology

Which of the following is not the
innate motive ?

(1) Safety (2) Hunger
(3) Thirst (4) Rest

Who stated that "Adolescence is a period
of stress, strain, storm and strife" ?

(1) William H. Barton

(2) Stanley Hall

(3) J. A. Hadfield

(4) Jean Piaget

Which of the following is the highest
level in hierarchical theory of
learning given by Gagne ?

(1) Problem solving learning

(2) Principle learning

(3) Concept learning

(4) Multiple discrimination learning

P.T.O.
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6. fefeifad & @ $9-A A A= 6. Which of the following is the non
P IEd THHID & projective technique of personality
measurement ?
(1) RIECRIEIGIE] (1) Association technique
(2) GEEIHGE Sty (2) Sociometric technique
(3) & ufafy (3) Construction technique
4) E[ﬁ yfafy (4) Completion technique
1. Mefafad § § P9-A1 o8 AWRIS 1. Which of the following is not the
W B T TE © 7 characteristic of good mental health ?
(1) |l aRYea (1) Emotional maturity
(2) SArHfAATd (2) Self confidence
(3) SR (3) Intolerance
(4) STTKH EI\RIFFT & & (4) Capacity of self evaluation
8. Ml # ¥ HE-AT I S 8. Which of the following concept is
RRIS I IS S B | e CEA K M TS EA R | not introduced by Jean Piaget in his
¥ g ? Cognitive Development theory ?
(1) SHEABIT (2) FHITEIH (1) Assimilation (2) Accommodation
3) HIEIREA 4) H@Tﬂ (3) Symbolic (4) Equilibration
9. F=foifag & @ H9-91 TF IO AR 9. Which one of the following stage is
3 fp & e & 99 W =W not prescribed by James Draver in
PR s 5§ 78F & ? ﬂllle c:)ntsxt of development of
. character ?
() Gil'tlﬁ'% | B = (1) The stage of crude emotion
(2) A F AT (2) The stage of sentiment
(3) SHEHA A (3) The self regard stage
(4) TURS =TT B SINISEI (4) Conforming conventional stage
10. TEMES (O™ ® Hﬂm—ﬂi@ﬁ?ﬁ 10. Who was the founder of socio-culture
fRrsid & 6 B & 7 theory of cognitive development ?
(D) SF @™ (2) 9 T (1) Jean Piaget  (2) Jerom Bruner
(3) W9 AZMCEH (4) PEATT (3) Lev Vygotsky(4) Kohlberg
11. F=loifag & @ S9-9 af[e J 11. Which of the following is not the
H uaq ufefy 78 2 ? type of projective technique of
(1) 9= qead e personality mea'sur.ement ?
: (1) Word Association Test
@) W A SURE (2) Woodworth's Personal Data Sheet
() ar Eﬁ et (3) Sentence Completion Test
(4) R wurd ale (4) Thematic Apperception Test

Level-3/315



12.

=
w

frefefeg & @ #9-91 ded 3N
gfaTied SAfdd & TS [A9E Bl
YHR 78 o ?

(1) iR (2) i ==

Q) Wt @ (4) Sieart

fH g T & U Sih Sy
qlET (Hied) AR & bl § 7

28578 @0F4a

(3) 16 ¥ 18 q¥ (4) 3 4 10 a9
frafafag & @ aF-di fhaEen &
faqrar 72 & °

(1) ATEIRET & IR H
& 20% B Bl

(2) R 3& i FER el 8l

FA WX & 9]

(3) =R T T B

(4) qATYH A SO T
W Ugd SN Sl

frefofeg & @ ®9-8 IRERTT @&t

o7y faQwar ® ?

(2) ARMIRT =ger YO & 2

(3) ARBIRG HIER & Wi HOR
Bl B

(4) ARPROT A= F Feil qREeH
Fl B

Wﬁﬁg@ﬂﬁﬂ&bm % AN

qMfe  Heal d SRl
g@aﬁmﬁmw@é’r%?

(1) 529 67 (2) 369 51
(3) 209 35 4) 209 A=
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[5]

12.

14.

15.

[A]

Which of the following is not the
type of dynamic trait of personality
given by Cattell ?
(1) Attitude

(3) Sentiment

(2) Urge

(4) Conservative
For which age group the Children
Apperception  Test (CAT) is
applicable ?

(1) 2to 5 yrs. (2) 0 to 4 yrs.
(3) 16 to 18 yrs.(4) 3 to 10 yrs.

Which of the following is not the
characteristic of Adolescence ?

(1) Weight of muscles 1s 20% of

total weight of body.
(2) Tendency of day dreams
increased.

(3) Vocabulary too increases.

(4) Mental abilities reach at their
highest level.

Which of the following is the false

characteristic of motivation ?

(1) In motivation, behaviour of
person is goal oriented.

(2) Motivated
continuity.

behaviour does

(3) Nature of motivated behaviour is
rigid.

(4) Motivation does energy changes
in human beings.

According to Stanford-Binet IQ
scale, what is the IQ range of low
mentally retarded children ?

(1) 52t0 67  (2) 36to 51
(3) 20to 35  (4) below 20

P.T.O.
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17.

Td & T Hsid & ufdues di
g ?

(1) et I9

(2) AR

(3) & WY

(4) Sflo WA B

fr=ifoifeg & & H9-91 t% omeEal @l
faQraetl & dot ¥ 7T wuA R ?

(1) omeg fafie Rufy & oo @
yiafshan 2

(2);@&3@%@%#@
|

(3) oTed ol diE & dier yae R

(4) MEd dad GO URRfRT 89
W IEfid &l 2

frfofag & & a9-a1 e Iftrm

gi o sl @ gefed e
?

(1) AR I H s

(2) e id & s

(3) 9N 919ud & f¥ar

(4) TEEHOT A RS

frfafeg & @ d9-01 9FSEH @
FEae ST H o A J@ e ?
(1) IEIush FfshaT FaT=

(2) AWM F ¥y s

(3) STgsfaa argfehan &1 s
(4) FE wd e B s

21. Frefdiad & @ @A oMy

TSR & ARG 3ehIl & 7

(1) T IR W A Hivsd B 2l

(2) SIS Rl WX e i
FT B

(3) S HeTET W biad B

(4) J5Y QA P AR T dbisd ol
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Who was the propounder of
Anticipatory theory of play ?

(1) Karl Groos

(2) McDougall

(3) Herbert Spencer

(4) G. Stanley Hall

Out of the following which one is

the wrong statement in context of

characteristics of habits ?

(1) Habit is automatic response to
specific situation.

(2) Habit 1s acquired through
heredity.

(3) Habit is a well Ilearned
performance.

(4) Habit is performed only under
similar circumstances.

Which of the following theory is not
related with the theories of transfer
of learning ?

(1) Theory of mental discipline

(2) Theory of rote memory

(3) Theory of identical elements

(4) Theory of generalisation

Which of the following is not the
other name of Thorndike's theory of
Connectionism ?

(1) Stimulus response theory

(2) Bond theory of learning

(3) Theory of conditioned response
(4) Trial and Error theory

21. Which of the following is behavioural

perspective of modern psychology ?
(1) Focuses on overt behaviour.
(2) Focuses on cognitive processes.

(3) Focuses on the biological events.
(4) Focuses on critique of male bias.



22.

Frfoied & @ $9-°1 0% qavgrE
3 faQwareT & gt § Tgg HeN B 7

(1) ey STer Bt B

(2) JavgfT aga afFemen e 2
(3) JavgrT STeueIa® il ol

(4) YRR ARG @9E ol

23. AR, Mo @9, 9w iR o= 3=

qHe ek 9

Sl S
TiafafeE @ wer S R

(1) g7 =&

(2) g5

(3) 9T

(4) sE@/aTE

Freifafad & & @9-1 &9 o7
g7

(1) TRFM ws ufskar B 9 % S

(2) A uRRA W3 SRR el
Bl

(3) ARF™ & & AUH S D

(4) g o ofET Bee & am
BN a FEgeR & URaad ot
e 99 S

25. g § § H9-91 So dio frawe

N e g & RiatE aew & o
e favas] B YER T8 © !

(2) SOt
(4) HAFRRS®

(1) Srpicrn
(3) Himias
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[Z]

22.

25.

[A]

Out of the following which one is
the wrong statement in context of
characteristics of instincts ?

(1) Instinct is innate.
(2) Instinct is very powerful.
(3) Instinct is ephemeral.

(4) Instinct  is
disposition.

psycho-physical

The mental activities associated with
thought, decision making, language
and other higher mental processes is
called :

(1) Visual images

(2) Cognition

(3) Concepts

(4) Propositions

Which of the following is the false
statement ?

(1) Learning is a process not a
product.

(2) Learning process is
purposeful.

always

(3) Area of learning is broader.

(4) Behaviour changes through
instincts and reflex actions are
also considered as learning.

Which of the following is not the type
of one of the component content
under three dimensional model of
intellect given by J. P. Guilford ?

(1) Figural (2) System
(3) Symbolic (4) Behavioural

P.T.O.
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26.

Frefafad & & aF-a1 &fa & a@

H e b FH ©

(1) M — g7 T — R —
REEIR]

(2) §T: RO — FARFH — gRT —
REEIR]

(3) ™ — T T — TEEH —
g

(4) HARFM — 9RT - G TR -
REEIR]

27, GoNNAT & QN9 U9 H9ed @ [

qRask Joad fafyr @ Afued e
foba o ?

(1) A4 (2) T

(3) e (4) A

AT R e

| Ch e e B & o M B
T 78 T ?
(1) T~ Sfihamd
(2) foremgs
(3) g
(4) ST HHOM
29, ffafag & & #9 @ BH-@ WX
gaanl R g@ mfa & o
et s/ R ar ® 7
(D) =9 (2) s1=’Y
(B) Wery (4 T wpia

Ty [y & S B & ?

(1) So do aredd
(2) faweew goe
(3) FFmTE wEE
(4) So THo Fed

[8]

Which of the following is the correct

logical order of elements of memory ?

(1) Learning - Recall —
Retention — Recognition

(2) Recall —  Learning -
Retention — Recognition

(3) Learning - Recall -
Recognition — Retention

(4) Learning — Retention —
Recall — Recognition

27. Who propounded Brain storming

method for fostering and boosting
creativity ?
(1) Torrance
(3) Osborn

(2) Myres
(4) Gordon

Which one of the following is not
correct way of releasing pent up
emotional energy ?

(1) Substitute responses

(2) Displacement

(3) Regression

(4) Self pity

Which of the following structure of

mind  directed according to
Hedonistic and pleasure principle ?
(1) Id (2) Ego

(3) Super Ego (4) Choleric

30. Who was the propounder of psycho-

analytical method ?
(1) J. B. Watson
(2) Wilhelm Wundt
(3) Sigmund Freud
(4) J. M. Cattell

Level-3/315
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[A]

[T - II (PART - II)
A1 (B ©d 37SH) [LANGUAGES (HINDI & ENGLISH)]
f&=<t (HINDI)

3 : R 797 % o7 &7 & [ qag ST 4wy g

31.

HIF-A qEE HEIgEh
JETET & ?

(1) g @ forn, 38 39 g

(2) i & TN Hg TG T B

(3) ¥ w9 fo T, o qer
TR H&

(4) S G9-GEET S

e Y|

32. ggfad fam 9= FW gHE o
TEEy

(1) fafyr — fg
(2) @@ — oo
(3) o — 7
(4) I/ — Bg

33. T Y& YT GEr Al @ o

ardf ® ¢

(1) 399 B | I a0

(2) 3@ § gEl W) 4 g
(3) HG¥H @RI BT

(4) TN T Tl

34. 79 & § @@ @ I 9= dHAE-A

g7

(1) g + ReX = gfafax
(2) T& + JURY = JA9EA
(3) AR + T = AT
(4) T + FIY = T

Level-3/315

35.

frfafag af & ded § PW-
foepea o ® 7

(1) I — diered, FUel, 99

(2) § — e, g6, Fgagal

(3) 9 — gy, =Y, FYT

(4) ¥ — g, ST, STE

36. W9 W g q FgAfa o @

T T
(1) ARMT = AR + 3
(2) aHH = qEF + 7

(3) U = 9 + 7
(4) Mg = ot + 7

37. Iuq 9 fffg st & dad § d9-a

e o7 & 7

(1) 9 — s, qiRwies, gy
(2) AT — YR, AN, FAEISR
(3) ¥ — g, FRBR, AT
(4) "feT — ot Scite, Sei

38. YE-VH H IR W FFIT FH GAC ¢

(1) Tl — de 9
(2) e — A6 9=
(3) 99 — TT I

(4) TEHITER — & =



[A]

39.

-l @ e | e 9w

FTGTTR ?

(1) gHF — YA B FHIA arel

(2) AR — W H g g AR

(3) aga® — I YA F T

(4) EMT — @S W) @Ak
EISIRCR

40. 71 ¥ 9 7T [THE TEAY ¢

(1) 9™ — 7= 9 Nia aaares
T3l

2) o — gdem | FiHd Aeams

G

(3) ARN — wrears |1 @ Sif
faror

(4) i — faquer | g
AdrEs |si
41. gﬁﬁg&ﬁ%—mm%ﬁ
?

(1) G g b — & &l S

HCT

(2) ST e THT @ A —
SEEA B qX SAfooT BT

(3) TR T H I — THAH e

(4) BT F Ge # A6 § FebaT —
SIFERTSTTH T SN BT

[10]

42. ‘A e Gaar 3 SHd A @l

FHHar H T

(1) @A fohehe Tl

(2) G Frdbe & S 2

(3) ®ieM 9§ Fhbe S S o
(4) afF & a} Brbe @a S Bl

43. =1 & & foom famew & &+ Framd

‘IFRHE T 7

(1) =, GEhTHT, e
(2) 3T, To, fore
(3) &I, @M, |

(4) T, IS, e

44. IR T G A HH-A [ed gAr

7 &7
(1) 3= | T3 R B
— foeiiesTas
(2) ¥ A H1 F& TE A
— Feygs ae
(3) & Tl & a8 ST S &l 37T
— ZT/EITS q
(4) T W A9 B AT @ @I
— Hphars ared
45. ‘TG, Ah, MG U= Frgeh wHgdrE
g7
(1) el (2) T=X
(3) Hoh (4) e
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3l (ENGLISH)

[11]

[A]

Direction : Answer the following questions by selecting the most appropriate option.

46.

Choose the correct option :

Transformation from Simple

sentence to Complex sentence :

A lost moment is lost forever.

(I) A moment which is lost is lost
forever.

(2) A lost moment is forever lost.

(3) Forever a lost moment is lost.

(4) No moment is lost forever.

Choose the correct option :

Transformation of sentences : Simple

to Compound

He must work hard to make up for

the lost time.

(1) He must work hard, cover the
lost time.

(2) Making up for the lost time he
must work hard.

(3) He must work hard and make up
for the lost time.

(4) Working hard will make up for
the lost time.

Select the correct conjunctions for
the blanks :

We will come ........ it rains ......
not.
(1) if, and (2) even, but

(3) whether, or (4) either, and

Choose one word substitution for the
following :

A word spelt and pronounced similar
but differing in meaning.

(1) Antonym (2) Homonym

(3) Synonym (4) Pseudonym

Level-3/315

50. Change the following sentences into

Reported Speech by choosing the

correct option.

"If you want to smoke you'll have to

go upstairs." said the landlord.

(1) The landlord told him that if he
wants to smoke he'll have to go
upstairs.

(2) The landlord told him that if he
wanted to smoke he would have
to go upstairs.

(3) The landlord said that if he
would want to smoke he would
g0 upstairs.

(4) The landlord says if you wanted
to smoke you would have to go
upstairs.

Change the following sentences into
Reported Speech by choosing the
correct option :

"We're waiting for the school bus,"
said the children, "It's late again."

(1) The children told they're waiting

for the school bus and it is late.

(2) The children said they were

waiting for the school bus and it
is late.

(3) The children complained that
they were waiting for the school
bus and it was late again.

(4) The children complained that
they were waiting for the school
bus and it is late.

P.T.O.
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52. Change the voice from Active to

Passive. Choose the right option :

We shall discuss the
tomorrow in the meeting.

question

(1) The question will be discussed
tomorrow in the meeting.

(2) We will
question
meeting.

the
the

be discussing
tomorrow  in

(3) We shall be discussing tomorrow
the question in the meeting.

(4) The question shall
tomorrow in the meeting.

discuss

53. Choose the option which has error in

1t :

(A) You should

(B) tell to me

(C) exactly what

(D) happened there

() A (2) B

3) C 4) D
Select the correct preposition to fill
in the blank :

They live ........ the same roof.
(1) in

(2) before

(3) after

(4) under

Select the correct meaning of the
underlined phrasal verbs :

I cannot make out the meaning of
this verse.

(1) discovery

(2) understand

(3) reading

(4) start

[12]

Choose the correct form of tense

given in the option :

She (play) the sitar since 6 o'clock

this morning. He just (stop).

(1) playing, stops

(2) was played, stopping

(3) has been playing,
stopped

(4) have been playing, stopped

has just

51. Choose the correct meaning of the

underlined idiom :
He is friendly to the minister, he
jumped the queue and got promotion.

(1) replace something

(2) hopping

(3) blame somebody

(4) get something out of turn

Select the correct preposition to fill
in the blank :

He broke the jug ....... a hundred
pieces.

(1) in (2) into

(3) over (4) about

Select the correct infinitive form of
the given sentence :

Seeing is believing.

(1) To see is to believe.

(2) Seen is to believe.

(3) To see is believing.

(4) Seeing is to believe.

Select the correct tense form :

The car (belong) to my mother. She
(use) it today to take Tom to the
dentist.

(1) belonged, is using
(2) belonged, using
(3) belong, used

(4) belongs, is using

Level-3/315
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[A]

AR - ITI (PART - III)
9MY 379 (GENERAL STUDIES)

B ARG, i STEHAT T4T 9T S U9 SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G. K. & AWARENESS)

3T : R 797 % o7 &7 & [ qag ST [awey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

frdl MiRed f2 § MONKEY &
XDIMNL fe@n sw, @ TIGER &
9 foren s ?
(1) SDFHS
(3) QDFHS

(2) SHFDQ
(4) UJHFS

62. I fha fMiem Yot & 9 * 3 = 36,

10 %6 =64,9 % 1 =25, a 3Id Y
X 23 * 3 % AN FT SR 7

(1) 169 (2) 52

(3) 32 4) 576

63. X 1988 ¥ 15 STTERI AR Hl HEAT

T T, A g8 1989 # TR R AemEn
T oar ?

(1) 9HarR (2) HIEER

(3) THaR (4) g

o SOX @ o 10 fFft Iwar @
T8 A 6 i RO # X Twar B
3G UgETq 3 Al qd @l S ww
3l 9 g8 AU RN fg @
fepar foprdt e fhe Ram H 2 7

(1) 5t aftem (2) 5 ot ST

3) 7l @ (4) 7 R aiEm
U RE-RST A 9 E, T e |
feg #1 A, B & gt IR SR E, C
% S SR & O A & 3t &
B, D % 3@ X B HN-91 49X ThaH
g § 7 ?

1) A 2) B

3) D 4) E
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61.

In a certain code MONKEY is
written as XDJMNL. How is TIGER
written in that code ?

(1) SDFHS (2) SHFDQ

(3) QDFHS (4) UJHFS

62. In a certain pattern, if 9 * 3 = 36,

10 * 6 =64, 9 * 1 =25, then in same
pattern what is the value of 23 * 3 ?
(1) 169 (2) 52

3) 32 4) 576

If the Independence Day in 1988 was
celebrated on Wednesday. On what
day was it celebrated in the year 1989 ?
(1) Monday (2) Tuesday

(3) Thursday (4) Friday

Vijay walks 10 km towards North,
from there, he walks 6 km towards
South, then he walks 3 km towards
East. How far and in which direction
is he with reference to his starting
point ?

(1) 5km West (2) 5 km North-East
(3) 7km East (4) 7 km West

65. There are five different houses A to

E in a row. A is to the right of B and
E is to the left of C and right of A. B
is to the right of D. Which of the
house is exactly in the middle ?

(1) A (2) B

(3) D 4) E



[A]
66.

qelpdl H Th Ul § e & e
q 81 & o 1 1 N I ¥
1747 & A% 3 STU TN oTe-Sed §
@ o s ¥ 144 WM W A SR
R Uk & g feae agfer § 7

(1) 27 (2) 29

(3) 32 4) 30
0.3467 +0.1333 THM BT :
(1) 0.48 (2) 0.4801
(3) 048 4) 0.48

& ST A ST 98 T BN
127, 128, 136, 163, 227,
(1) 352 (2) 350
(3) 357 (4) 341

69. I A H o e, B & Y

‘ger@’, C # o ‘A, D @ o1y
U B, A i R JW
T BI 7
1I8A12C6D2BS5 =

(1) 25 (2) 27

3) 15 4) 17

e & T SRR gEen ¥ 8 gu e
H T B

a —cdaab —cc —daa — bbb — ccddd
(1) bdbda (2) bddca

(3) dbbca (4) bbdac

711. BFE @ % oWiga ok aRdd &

BSItheT BT STUT BT
(1) 1:4 2) 4:1
3)1:2 4 2:1

11, 11.11, 0.11, 0.011 & HoHoYo
T BN 7
(1) 0.011
(3) 0.11

2) 1.1
4) 0.111
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In a row of girls, Shilpa is 8th from
the left and Reena is 17th from the
right, if they interchange their
positions, Shilpa becomes 14th from
the left. How many girls are there in
arow ?

(1) 27 (2) 29
(3) 32 4) 30
0.3467 +0.1333 is equal to :
(1) 0.48 (2) 0.4801
(3) 0.48 4) 0.48

Find the next term of the number
series :

127, 128, 136, 163, 227,
(1) 352 (2) 350
(3) 357 4) 341
If A means 'plus’, B means 'minus’,
C means 'divide by, D means
'multiply’. Then what will be
simplified value of
1I8A12C6D2BS5 ="

(1) 25 (2) 27

(3) 15 4) 17

Find the missing letters in the given
letter series :

a —cdaab —cc —daa — bbb — ccddd
(1) bdbda (2) bddca
(3) dbbca (4) bbdac

71. The ratio of the areas of the incircle

and circumcircle of a square will be :
(1) 1:4 2)4:1
3)1:2 4 2:1

What is the HCF of 11, 11.11, 0.11,
0.0117?

(1) 0.011
(3) 0.11

2) 1.1
4) 0.111



2) 16
) 10

(1) 18
3) 12

& @A 132 HieX ud 108 Hie
ol Th-gEl 9 oo R § o @
g et 9w @ o 32 REHvEer
q gl W 40 ReEfAca B Re
g § 9 TH-gE Bl IR HT A ?

(1) 880 (2) 10 Fo
(3) 12 ¥o 4) 11 Bo

g 7 93 7 FUA A 8 g F T
wbd ¥ A, 70 T 70 HRIA F T
g fohae g T ?

(1) 8 gue

(2) 560 gu

(3) 56 g9

(4) 70 gu

el a%] 1 T 20% ¢ I B, At
AT fhEl SUHET &R 9T JUHRT
g fohae oS @ A B G 9N B
SH% @9 H B g el 8l 7

(1) 16%% ) 15%%
3) 17%% 4) 16%%
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13.

[A]

The numbers in the following question
numbers are written according to
certain pattern row-wise or column-
wise. Identify the pattern and find
the missing character accordingly :

6 1 | 25
8 6 16
12 5 ?

(1) 18 2) 16

3) 12 ) 10

Two trains 132 meters and 108
meters long are running in opposite
direction, one at the speed of 32
km/hr and another at the speed of 40
km/hr. In what time will they cross
each other ?

(1) 8 sec.
(3) 12 sec.

(2) 10 sec.
(4) 11 sec.

15. If 7 carpenters can make 7 chairs in

8 hours, how many hours will 70
carpenters take to make 70 chairs ?
(1) 8 hours

(2) 560 hours

(3) 56 hours

(4) 70 hours

The price of any item is increased by
20%. Find the reduction in the
consumption of the item by a
consumer so that there is no increase
on his expenditure :

(1) 16%% ) 15%%
3) 17%% 4) 16%%



[A]

11.

242424242 T 99 F|T BT 7

() 0 2) 2
(3) 1 (4) 231/32

% 10,000 =pgls &1 & &9 | 5 a9
¥ M & 9 8, @ 20 9§ 9¥Eg
SHl Tgfs &N B W ¥ T@ 9
feperaT &1 S ?

(1) 240,000  (2) T 60,000
(3) 80,000  (4) T 1,60,000
AS Ba 91 10% a9 ¥ 39 & K B

TWCH 0% W q Ja & IR CH
g3 & o4 T 990 IHAT &, q FR. A
- 39 Sl N fobe H @l o ?

(1) T900 (2) % 1,000
(3) T 1,200 4) 2950
215 YU arll Tedh e § -l

YU S:68 S ?
(1) 12 2) 11
3) 13 4) 14

‘SRyAr WiYe 9FET BT GRS R
ST B

(1) o & Seeh f&er am
(2) BT A STHEHT ST
(3) BRATT H&pa HbEH &N
(4) BREen Bd gy stEdl 51

82. ffoRead & & & 2021 § ‘ggw

T A<t & 7
(1) ST FEE Ed
(2) d= R
(3) T R
4) g e
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71. What is the value of \/2\/27 V20242 2

(o
31

2) 2
(4) 231/32

A sum of ¥ 10,000 deposited at
compound interest becomes double
after 5 years. After 20 years the
amount will be :
(1) 40,000
(3) ¥ 80,000

(2) % 60,000
(4) T 1,60,000

79. A sold a watch to B at a gain of 10%

and B sold it to C at a loss of 10%. If
C paid X 990 for it, then how much
amount paid by A ?

(1) 900 (2) ¥ 1,000

(3) ¥ 1,200 (4) %2950

80. Which number must be added to

each term of the ratio 2 : 5, so that it
may equalto 5:6 ?

(1) 12 2) 11

3) 13 “4) 14

81. Monthly magazine 'Hariprabha' is

published by :

(1) Information and Public Relations
Department

(2) Haryana Sahitya Academy
(3) Haryana Sanskrit Academy
(4) Haryana Hindi Granth Academy

82. Who among the following is the

recipient of 'Padma Bhushan' in 2021 ?
(1) Jai Bhagwan Goyal

(2) Virendra Singh

(3) Tarlochan Singh

(4) Mukesh Singh



3. T/ @ fafeq @i, Fores/fmd
A P oo T B
(i) THaRd
(ii) ™ A B AEN A
(iii) P
(iv) B HdTl
7& FT H AT BT :
(1) F=a (i)
(2) (i) 3 (i)
(3) (i), (i) AR (iii)
@) (i), (i), (iii) AR (iv)
fFrefofad & @ feg <& &1 ST
e GIT B 7
T
(1) aeEa
(2) F=H

SEYLIRSE]
— HaT H TErsA
(3) UR&vET  — REiers B geiedr
(4) TFE — AR # veIEE
85. fyeifeifeg & @ fpem dow w
BRI Ie= AR & g g
% @ ¥ Fd 78 e ?
(1) Si&d g% g™
(2) SiR<H To Ho Hibd
(3) SIRTH THo THo i
(4) TR g9 fhem B
‘FIOTETg 39 Y9 @A AR ©
(1) gfiEen T8 § QO &l @
SRERICEC |
(2)%—Wr&ﬁ%ﬁﬁ$;ﬁ B I
ECEEE| UG AT
F o]
3) ol Wafeea G @
S gEEe # o Ted JeN

FTT 5]
A g @ e @

(4) &l
AU Bl iedlied HIH &Y
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83.

85.

[A]

Identify the text/texts, in which the
reference of Thanesar is found :

(1) Harshcharit

(i) Travelogue of Yuvan Chang
(ii1) Kadambari

(iv) Karpur Manjari

Choose the correct code :

(1) Only (i)

(2) (1) and (i1)

(3) (i), (i1) and (ii1)

4) (1), (i1), (ii1) and (iv)

84. Origin of the which of the following

rivers is not correctly matched ?

River Origin Site
(1) Saraswati  — Dangushai
(2) Indori — Mewat hills
(3) Markanda — Sivalik hills
(4) Tangdi — Morni hills

Who among the following did not
serve as the Chief Justice of the
Punjab and Haryana High Court ?

(1) Justice Mukund Mudgal

(2) Justice A. K. Sikri

(3) Justice M. S. Jain

(4) Justice Sanjay Kishan Kaul

86. 'Pran Vayu Devata Pension Scheme'

1s aimed to :

(1) Conserve older trees in Haryana
State

(2) Provide financial assistance to
the non-government doctors in
their old age

(3) Provide economic relief to the
non-government paramedical
staff in their old age

(4) Encourage plantation of Tulsi
and Giloya in urban households

P.T.O.



[A]

81.

frfoiea sREenm & Togue § 8§

e e 98 X Ted g ger ?

(1) o THo Tghal

(2) Tmia g &

(3) So THo B

(4) €N To THo TN

Recll-T8  SlElie HReR & i

g ¥ wwaifad faw asveienfiem

?ﬁﬁa&ﬁﬁﬂﬁaﬁﬁaﬁmww
?

(1) BiEEE — qaad shEnfies &=

(2) W — fER Ry &=
(3) HUSell — NG T &
(4) IMEX — 9O9 Ma9 &8

89. ERAMM i JdT STENT o™ fhy W

A & aR | A e
H TR HA &

(1) =9

(2) gl

(3) §E

(4) U9 foum |

gRaren & fgenfsdl &/ del Wi
2021 # Sfid T FH TH E

ooooooooooo

(1) 04
(3) 08

(2) 06
4) 19

[18]

89. The

81. Who among the following Governors

of Haryana died while in the office ?
(1) B. N. Chakraborty

(2) Ranjit Singh Narula

(3) J. L. Hathi

(4) Sardar H. S. Brar

88. Which of the following is not true

about the proposed investment region/
industrial area under Delhi-Mumbai
industrial corridor in Haryana ?

(1) Faridabad — Palwal Industrial

area
(2) Rewari — Hisar investment
region
(3) Kundli — Sonipat investment
region
(4) Manesar — Bawal investment
region
Haryana  Public  Service
Commission presents its annual

report of the work done by the
commission to the :

(1) Governor

(2) President

(3) Parliament

(4) State Legislative Assembly

90. The total number of medals won by

the athletes of Haryana in the Tokyo
Paralympics 2021 are :

(1) 04 (2) 06
(3) 08 ) 19

Level-3/315



[19] [A]
91T - IV (PART - IV)
Afew RS (PHYSICS)
[der : Frearrea ge7 % v &7 & g aag ST Awey g
Direction : Answer the following questions by selecting the most appropriate option.
91. TF QOX Y9 EFT (Eﬁ'ﬂ[) CANFEC 91. A laser beam has aperture
d=18x 107 m § T T8 TEREA d = 1.8 x 10> m and it emits
A = 500 nm % fafRor H I radiation of wave length A = 500 nm.
FIA 21 TED BT g (Eﬁ'q) % 9% The value of solid angle of cone of
% T B H AW (RIS H) 8 : its beam (in st rad) is :
(1) 2.8x10° (1) 2.8x10°
(2) 2.8x107 (2) 2.8x107°
(3) 2.4x 107 (3) 2.4x 107
4) 4.8%x 107" (4) 4.8x 107"
92. 14 A ﬁ'@ﬂ gR1 9 SrEred 92. An electric current of 14 A is

faafora &t &, SN |9=X %A H B
15 1 2 A | e
AT A 223 : 479 V2 0 1:2
B AR AR oW g & g, O g
T B SBHST:

(1) 4A, 4A, 6A
(2) 3A, 6A, 5A
(3) 2A, 7A, 5A
(4) 6A, 2A, 6A

Level-3/315

divided into three branches forming
parallel combination. The lengths
and diameters of three branches are
in the ratios 2: 3:4and /2 : 1:2
respectively. The current in each
branch if wires are of same material,

will be respectively :
(1) 4A,4A, 6A
(2) 3A, 6A,5A
(3) 2A,7A, 5A
(4) 6A,2A, 6A



[A]

e AT B TH Wad AT ATH B
+Z R § 9ga &9 E % 3N i
(7E<S) fopar o 1 & £V @

e’E? ZeE2

k
ek
D

1 - 2)

4) A

Th AR & [RO-FIT w g
oo fae=s 100 ns B 39 fR9-
T H SWN & G aml ST

Fiip STGRT B
(1) 1kHz
(3) 10 MHz

(2) 10 kHz
(4) 10 GHz

95. FIT A : 0% fagd dus () Ak

qRT AT & 59 6 e =1 fRar S
2 e 36F 59 I8 T a9 ol

(1) 9 A g B @l
9 B & A &
T B

2) = A 9 B
9 B FH A &
TR TE B

(3) HIT A T B, HIT B Td &

i

(4) I B TEI &, BT A T

Level-3/315

[20]

93.

A linear harmonic oscillator of
charge e is perturbed by an electric
field E along +Z direction, then En(l)
will be :
e’E?
k

eE
(3) r

2¢E?

(1 - 2)

(4) Zero

The total propagation delay through
a master slave flip-flop is given as
100 ns. The maximum clock
frequency that can be used with this
flip-flop is :
(1) 1kHz

(3) 10 MHz

(2) 10 kHz
(4) 10 GHz

95. Statement A : An electric heater

draws more current when it is first
turned on as compared to when it is
fully hot.

Statement B : The potential drop
accross the heater increases with
increase in temperature.

(1) Both the statements A and B are
true and statement B is a correct
explanation for statement A

(2) Both the statements A and B are
true but statement B is not a correct
explanation for statement A

(3) Statement A is true, Statement B
is false

(4) Statement A is false, Statement
B is true



06. T W T a1 Rewd @ R

forfa aieedr 100 V &, @ d@l fise
(dc) dreear BR :

(1) 100 V
(2) 70.7V
3) 63.7V

4) 31.8V

91. FERA A T B & wd & BRI W

T dleedl ol feeg, dEE A
Tt 0°C W m kg % & fEam
T & SEi% HEE B Sl
100°C W &HF HET & Tl B Il
Hhdl 81 A A #H gRAl 16 mF g,
dl B &l el 2

(1) 27 mF
(2) 54 mF
(3) 108 mF

(4) 216 mF
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[A]

96. If the peak output voltage of a full

wave rectifier is 100 V its dc

voltage is :
(1) 100V
(2) 70.7V
(3) 63.7V

4) 318V

91. Capacitors A and B have the same

voltage across their plates. However,
the energy of capacitor A can melt
m kg of ice at 0°C, while the energy
of capacitor B can boil away the
same amount of water at 100°C. If
the capacitance of A is 16 mF, then

the capacitance of B is :
(1) 27 mF

(2) 54 mF

(3) 108 mF

(4) 216 mF



[A]

98.

m Tl 2m EHUH HI A IS HAL: v
@v/2ﬂlﬁﬁﬂﬂ?ﬁ%|@tﬁﬁz
ST THRPE & U 3 1 v/3 |
T G eril ol A& & URIE I B
7 H B

(1) 30°
(2) 45°
3) 60°
(4) 120°

99. M ZFHUN Tl a B9l H Uh THAHM

o el 9 &9 qel Bredr 2a
% TF qad Mald BT SR GHE:
anw%.%aagagawwm
%3[%:

(1) g
AGM

2

@ 55

3GM

9q°

@ M

a

3)
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8.

Two balls of masses m and 2m are

moving at speeds v and v/2
respectively. After undergoing a
completely inelastic collision they
move together with a speed of v/3.
The the initial

angle between

velocities of the two balls is :
(1) 30°

(2) 45°

(3) 60°

4) 120°

99. A uniform solid sphere of mass M

and radius a is surrounded

symmetrically by a uniform thin
spherical shell of equal mass and
radius 2a. The gravitational field at a

) 3 )
distance 5 a from the centre is :

(1) zero
4GM
9a*
3GM
9a*
GM
“4) —;

a

2)

3)




100. @ fo9Me o= =@ S, 9 S, B
W Y& HET I o, d O,
(6, >0, c @& d g & 7%
R TR T 81 6l g ammas
g ® S, ¥ S, & IR @A § A
fesm & 45° T SR @1 & FRA
W a(<d) T o SN ¥ faga &=

g} o ™ e R

Sl_%d%_Sz
(1) W—\/_eo(c51+c)
2) W=—E
@ Z\EGO ®2)
2
3) W= Eq“ (6,-G,)

@ W=, +0,)

€
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[A]

100. Two large non-conducting sheets S,

and S, carrying surface charge
densities o, and o, (0, > O,
respectively are placed parallel to
each other at a distant d apart in
vaccum. The work done by the
electric field in moving a point
charge g through a distance a (<d)
from S, towards S, along a line
making an angle of 45° with normal
to the plate is :

0 O,

a
Zg? _______

Sl_%d—>_S2
(1) W_\/——eo(cl-i_cz)
) W=—2 (o,-
() 2\/§e0(61 c,)
2
3) W= Eq“ (G, —6,)



[A]

101. 5t wpe & sk werRf @ 99 g

T S W T = aS & AR Y
XA T, el a T n e FowErd
H A FHERA C, S F B >
9 39 TR & S R

(1) C=nS
2 c=5"
3) c=>
n
S
@) c=7

2m o= Th ol 3¢ B H W@
EIF BT B hl AW % IRy
(3% x=0W Red @ RR @) g x &
Y A = 3x kg/m & AR FEwd Sl
8% H 36 x = 0 W g BR 9 aRka
ol e % URG: Sied Y ©

(1) 8kg/m’
(2) 10 kg/m’
(3) 12 ke/m’

4) 16 kg/m’
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[24]

101.

In some process the temperature of a
substance depends on its entropy S
as T = aS where a and n are
constants. The corresponding heat
capacity C of the substance as a

function of § is given by :

(1) C=nS
2) c=S5"
3) c=>
n
S
@ C==

The linear mass density of a thin
rigid rod of length 2m varies with
distance x (from one end of the rod
at x = 0) along the length as A = 3x
kg/m. The moment of inertia of the
rod about a perpendicular axis
passing through the end of the rod at

x=0is:

(1) 8 kg/m’
(2) 10 ke/m’
3) 12kg/m’

4) 16 ke/m’



103. [*F U F@ieR TR U H EQar

3 S T TN fUeed Ew A An §
fiora fpar @ B e, da9 @
TR & ofjed M &g T Sl
qrEer § S qer e Aqe @l
Al HE L A L (> L) E
Y% AR § 9 A9 7 W T e
MW A MR 2 e @

I B

)
ll
¥
(777777777777 |
12
\%
(1) m:E l+l
8 _ll 12_
o) moRT[1_1
8 _lz ll_
(3) m=RT 1.1
L |

@ mzﬂ{gi}
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[A]

103. Figure shows a vertical cylindrical

vessel separated into two parts by a
frictionless piston free to move along
the length of cylinder. In equilibrium
the lengths of upper and lower parts
are [; and [, (I, > 1)) respectively.
Each of the two parts of the vessel
contains one mole of an ideal gas at

same temperature 7. The mass of

piston is :
1
ll
\
p777777777772
12
v
(1) m:E l_}_l
g Lh L]
o moRT[L_1
g L I
(3) m=RT 1.1
12 ll

@ mzﬂ{gi}
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104. g gfodg 5 K/'W & ©&6 88 CD

& UHh G999 B AB & T W SAlel
T R e B e § welia BRI
A, B @1 D @&l %A 100°C, 0°C T
25°C WX ST 3@ @0 81§ C &
am ®

A B
100°C C 0°C
D 25°C
(1) 62.5°C (2) 40°C
(3) 50°C (4) 45°C

105. x-y ad H ToHM T BT WX HEHR

U a0 F=Qyi+x*)N ¥ R
ST B SRl x qdr y Hex § ¥ H
Hl geriarg A RAfd C (Sm, Sm) T A
S S g frefeied west A9

H-T1 T T & ?
B¢----->----22C (5m, 5m)
77 A
ok |
A

(1) F & &G 9 2

(2) 79 OAC & TRy 99 g foa
T 1257 B

(3) 94 BC &% IR o SR {6
T FE 507 B

(4) 9 OC &% IRy S JN &
T HE 200/3 ) B
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[26]

104. A rod CD of thermal resistance 5 K/W

is joined at the middle of an identical
rod AB as shown in figure. The ends
A, B and D are maintained at 100°C,
0°C and 25°C respectively. The
temperature of junction C is :

A B
100°C C 0°C
D 25°C
(1) 62.5°C (2) 40°C
(3) 50°C (4) 45°C

A force acting an a particle moving
in the x-y plane is given by
F =(2yi + x>J)N where x and y are
in meters. The particle is to be
moved from the origin to a position
C (5m, 5m) as shown in figure.
Which of the following statements is
not correct ?

B _-—-——>—--::TC (5m, 5m)

s
.

oL

> [--->-

(1) F is a conservative force

(2) Work done by the force along
path OACis 125

(3) Work done by the force along
path BCis 50J

(4) Work done by the force along
path OC is 200/3 J



106.

e # mefitfd oRREfd | fEr &%
Rt 1 g 2 § welid S adl
Rret ag & JeReE A &M 8 RH
g 4 @99 &0 § &1 e |
UEHIF n, T TR L & AEHH
() § =@t 81 6T 2 ofuadsie n,
(<n,) T QI T8 L % A9 (2)
d go & o9 3 fReel Werd | AR}
et F o fReON 1 7 2 % A\
A &

(nH mn
«— [ —

(1) Ad=0

2) Ad= 2—;(:11 )

2
(3) A¢= 7%1 —n,)L

) A¢=-%?(ﬁLgf&jL
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[A]

106. Consider the situation shown in figure.

The light waves represented by raysl
and 2 have identical wavelength A in
air and are initially in phase in air.
Ray 1 travels through medium (1) and
refrective index, n, and length L.
Ray 2 travels through medium (2) of
refractive index n, (< n,) and the
same length L. When the rays leave
the media, the phase difference

between the rays 1 and 2 is :

2311‘ ( 2) n, air

«— [ —

(1) Ap=0

2) Ad= 2—;‘<n1 )

(3) Ad= %ml Cn)L

_2n(n +n,
4) Ad= 2 (—2 jL



Th g oMEy ¢ & WEX dead
BRI IS S M N C I LR S T
Fafe: g d W @ & 9 B R
¥ I T B R W AT 9 o
1

) :

dme,

(7T k=

«—d—>-q

N\

l

L7

1) k q—(zf 1),

1

PEAW
2) kq _(2v2-1), P # &R

(3) , P &l 3T

kq?
2\/§d2

Z,Palﬁ
8d

4)
Th AR 9T T FEd g &
% OWTd geaE  (Bfew) T W
IRl &1 3EH RIS T 3H TR ©
foh Trehid & & IR °h TEh
B & HARISEd O § HIh BN &l A
3l HSAE 9T B Fol W p ql
9o i Bl R @1 ST p/R®

(1) 72 2)

(3) 2n 4) 4n
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107.

A point charge is  placed
symmetrically at a distance d from
two mutually perpendicular
grounded infinite conducting planes
as shown in the figure. The net force

):

on the charge is (here k=
4dre,

«—d—>-q

l

II}—‘
RCAYNNNN\\

1

(1) k (2\/_ ) away from P

) kqu (242 -1) towards P

kg?
24/24>

2

kg
4) 2
()8012

towards P

3)

away from P

A charged particle moves in a helical
path under a constant magnetic field.
Its initial velocity is such that the
component along the magnetic field
1s twice the component in the plane
normal to the magnetic field. The
ratio p/R of the pitch p to the radius

R of the helical path is :
(1) /2 2 n
(3) 2w 4) 4n
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109. oy 3 yrestt aremwt e STuadsis

n, @ n, & ® "7 B IRGAE B
Qi B B i ROl o awiE
B OB B A & =R

R AT g T T 51 A Re
T HA H q B FE e 7

AB\\L?W 3

n

2

() BFelt B @r D & i o
IMINE IEa 8T Ay

(2) BRe1 B ot ofafes qRiEfid sl
Bl

(3) o1 B Ol oAt WrEfid @l
Tl ©

(4) BRer C g ofaRe W@k @l
Tl ©

Uh HUND fa@uesd W W =R
P e T Te e A TIEH
O Fe T & TEa &1 WA H @R
A O AT fAfHTOT I TE B
207 1 FFAM 119.904040 u T
Fe %1 59MM 59.934078 u Bl 39
BT ST & Fe §9 U7y oM Hfrehyor
% HROT Th gL § W Bl & 7Tl
B 8, A Fe AIMNH W& (TETH)
ol g W8 ?

() 3x10 " m (2) 7x10 " m

(3) 6x10°m (4) 2x10 m

Level-3/315

[29]

109. The figure

[A]

shows the boundary
between two transparent media with
indices of refraction n, and n,.
Several incident light rays are also
shown. Ray A is found to suffer total
internal reflection. Which of the
following statements is correct ?

AB\\LZW )

n

2

(1) Rays B and D must also suffer
total internal reflection

(2) Ray E must be totally internally
reflected

(3) Ray B may be totally internally
reflected

(4) Ray C may be totally internally
reflected

fission

Consider a hypothetical

w e nucleu i
rocess where a 3’Te nucleus splits

60
-6 e

without producing any other particle

into two identical nuclei

or radiation. The mass of ’Te is

119.904040 u and the mass of ) Fe

15 59.934078 u. At the moment when
the two Fe nuclei form but before
they start moving away due to
Coulomb  repulsion, how far
(approximately) apart are the two Fe
nuclei ?

(1) 3x10*m ) 7x10"°m

(3) 6x10 'm (4) 2x10 m
P.T.O.
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111.

[
ol

[
[

a1 3= A =20 pm # X B FEA
P UH T Y BFUE YHINT B 2
T it fheel st fRRer |/ 90°
W AgEd # S 81 3 e |
IR X 60T B ol @1 b
gl U SAdg Bl SIEiaRd
gt ?

(1) 0.1%
2) 1.07%
(3) 10.7%

(4) B A T

A MBI AR A 9 B &l |H
ded FH: 216 9 64 El @
Breanelt &1 STU (Ro/Rp) © :

(D1 )

R W

3) 2 4

2 kg 5NN H <l UH Aol Taqe
W M § 21 <6 au a8 $ 7
gYo1 o 0.1 81 3 N & Th &
I e W NG Rem S R
=6 ER1 9 m g0 T FA & IR
gE = (m/s ®) B [y = e =
0.1 AT & g = 10 m/s” J]

2) 3
“4)9

() =
(3) 6

Level-3/315

[30]

111.

el
e

ot
ot

X-rays of wavelength A = 20 pm are
Compton Scattered from a carbon
target and the scattered rays are
detected at 90° to the incident beam.
What percentage of initial X ray
photon energy is transferred to an
electron in such scattering ?

(1) 0.1%
2) 1.07%
(3) 10.7%

(4) none

Two spherical nuclei A and B have
216 64
respectively. The ratio of their radii
(Ra/Rp) is :

mass numbers and

(D 1 2)

3) 2 4

R W

A block of mass 2 kg is at rest on a
horizontal surface. The coefficient of
friction between the block and the
surface is 0.1. A horizontal force of
3N is applied to the block. The
speed of block (in m/s) after it has
moved a distance of 9 m will be :
(consider u; = W, = 0.1 and take g =

10 m/s’)
(1) zero 2) 3
(3) 6 @ 9



114.

[
[

Gt S I TC G- s M e
T B | dehl 81 AR TH T «E
B T d fod R 9 g I
T M 1s 8 Q@ T @ aE

¥ (g=10 m/s” )

(1) 10 m

(2) Sm

3) 25m

(4) v Fa

—

Ry A H dEE 5 T oqAT I8
g x OTET & Ge 30° HU W B

aRyr B # TR 5 B 99T I8
gD x T & duE 150° HT )

R @RI C=A-B % WU &b x
& & | HIOT 7B 7
(1) 90° 2) 0°
(3) 135° (4) 30°

TH FOT ARG & = ORI v=7{
m/s § URY B B q xy d@ #
R @ a = |- 97 +3]| nvs” &
FAT Bl IW GHY, WE B W
b x FReTi® 9T Ugadr B, 3
T (m/s ®) BRT :

(1) 2.37

(2) 23]

(3) 231 +091 ]
4) 091

Level-3/315

[31]

[A]

114. A heavy rope of uniform linear mass

ot
ot

density hangs from the ceiling. If it
takes 1 s for a wave pulse to travel
from the bottom to the top of the

rope, the length of the rope is : (take
g =10 m/s")

(1) 10 m

(2) Sm

(3) 25m

(4) Insufficient information

Vector A has a length of 5 and an
angle of 30° with respect to the

positive x axis. Vector B has a
length of 5 and an angle of 150° with
respect to the positive x axis. What is
the angle with respect to the positive

x axis for the vector E = Z — E ?
(1) 90° 2) 0°
(3) 135° 4) 30°

From the origin, a particle starts at

t=0 with a velocity y=7i m/s and
moves in xy plane with a constant

. - S A 2
acceleration at a = [— 9i +3 ]] m/s .
At the time, the particle reaches the

maximum x coordinate, its velocity
(in m/s) will be :

(1) 237

(2) 2.3

(3) 2.31 +0.91 ]
4) 091 ;
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117. 99 UgET S & YOEH B IE

H m T n B T4 39 i, oD
T @R FHIBT Q = g™ cosnp ;

P =q"sinnp fafed @T'ﬁﬁib_m')
IR 8

(1) mzé yn=2

(2) m:% ;n=1

B)m=1;n=1

4 m=1;n=2

U $O Bedr R & gaebR 99 § T
W%W’ﬁ;'{ﬂqﬁaﬁv{ﬁs%
T v=ovs F STTEARX TaAA & STel
o Th oIcHh FrEdie 81 gl s @
FA B IUCT HT H @ ® ¢

2

o
(D) EX

(2)

3)

4)

Level-3/315

[32]

117.

of
bracket,

Using the  property the

fundamental Poission
find the value of m and n for which
transformation

the equations

Q=gq"cosnp; P=gq"sinnp is a

canonical transformation :

2

s n

(1) m=

| =

(2) m=

1

,n

| =

B)m=1;n=1

4 m=1;n=2

A particle moves in a circular path of
radius R such that its speed v varies
with the distance s as v=ons
where o is a positive constant. The
acceleration of the particle after
traversing a distance s is :

2

o
(D EX

(2)

3)

“4)



119. o oy § T a=1 S; q S, 4

SR 81 a1 Sy, S; B GNH ®RA B
AT ®T A S, T S, § T&T HH W
WQTWEE[Fz%lﬁP:‘Tﬁa
HIF-91 [Jeheq deg 7@ 8 ?

(1) Fi#0; F,#0
(2) Fi#0;F,=0
(3) Fi=0;F,=0
4) F,=0;F,#0

f™ Z e om, T AT v B TS
ANRBE HT M ZFHH & ThH B
St R & B, § Thaar @ aun e
feroes ST &1 €Y F1 H A ©

[y=1/1-v2/c? ]
(1) Ymyyimy + M)
(2) YmI(ymy+ M)
(3) myvI(ymy+ M)

MgV
@ YM + m,

TF Bie YHIY 98 W o & A Th
f& SOt o9 & 9’ X 3 m g W
@ 3| 9@ Sfafes o 9 el olik

2 m g0 W S Bl H TH OREs
e [OreehT dTueeih 1.4 & & &
T T ZHH A HARl Bl IshaT oA
TH B ashal Bedr & 9 R

(1) 0.12m
(3) 0.48 m

(2) 0.96 m
4) 1.5m

Level-3/315

[A]

119. A particle is observed from two

frames S; and S,. The frame S, is
accelerating with respect to S;. Let
F, and F, be the force on the particle
when seen from S; and S, respectively.
Which of the following option is not
possible ?

(1) Fy#0;F,#0
(2) F,#0;F,=0
(3) F,=0;F,=0
4) Fi=0;F,#0

A relativistic particle of rest mass m;,

and speed v collides with a stationary
particle of mass M and sticks to it.
The final speed of the composite

[y=1/\1-v2/c? ]
(1) Y mvl(my + M)

Q) Y mgvi(y my + M)

(3) moul(y my + M)

particle is :

mgyv

4) — 07
© YM + m,

Consider a small light bulb, 3 m to
the left of a biconvex lens, which
form an image 2 m to the right of
lens. The lens is made of a
transparent material of refractive
index 1.4 and its two surfaces have
equal radii of curvature. The value of
the radius of curvature is :

(1) 0.12m (2) 0.96 m
(3) 0.48 m 4) 1.5m
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122.

T 9o LCR uRwe R 120Q &
ek 8, & R S orE SR
250 rad/s @I SINNICERRY giey wg
IR T dieednd A 60V T 40V
g1 uRay § q@ I H AN ® ¢

(1) 0.64 H
(2) 032 H
(3) 0.48 H

4) 0.16 H

;zvof (vO>OHﬂTWﬁW%)@
T O gd 8 E=-E, (E, @&
T Madi® 5) § ¢ = 0 W Haq
A ol IR AT F @ HAT B
T SoaeH & s aeed A, g,

q THT ¢ W ZHH SISl qT o §
(1) X(r):xo{n eEOt}
mVO
@ M=t
- ekt
mv,
(3) 7h(f)=L
{IE}
mv,

@) Mo =Nyt

Level-3/315

[34]

122.

A series LCR circuit containing a

resistance of 120€Q has angular
resonance frequency 250 rad/s. At
resonance  voltage  across  the

resistance and inductance are 60V and
40V

inductance connected in the circuit is :

respectively. The value of

(1) 0.64 H
(2) 0.32H
(3) 048 H
4) 0.16 H
An electron of mass m with initial
vy > 0 and is
nonrelativistic) enters in an electric

field E=-E, (E, is a positive
constant) at r = 0. If its de-Broglie

- A

velocity v =i

wavelength just at the entry in
electric field is Ay, then its de-
Broglie wavelength at time 7 1s :

(1) A1) = ko{1+ eEOt}
my,
@ M=
- ekt
mv,
(3) M) = T
{1 ; E}
mv,

4) Mo =kt



124.

a0 A, ST i dE AT TR
B Sl UF BT WA H B g
e H omaNg &Y dhal 21 39
TR & JHA TF BRI
W oMufad B S ST WM S
e § B 9} Med ® saae @l
T SHott BN

(1) 13.6eV (2) 3.4eV

3) 102eV  (4) A

Teh ARG T Rl TheH Frehia
B & dgdq Id H UENd fhEr S
3 & BN WA U9 AN UEw

BT FHTAN ©

(1) a1 &
(2) GaT &
(3) TS St &
(4) I G %

Ul AR § T @ TH YR
%mmx+y+z=C(G|€TC
% fEae 3) @ Ru I 81 S
ool @ fRem & X o @ &R
T I T

(1) cos ' (1)

(2) cos ' (1//2)
(3) 90°

4) cos ' (1/+/3)

Level-3/315

[35]

124.

[A]

Let A, be the maximum wavelength
of light which can ionize a hydrogen
atom in its ground state. Light on
this wavelength is incident on a
hydrogen atom which is in its first
excited state. The kinetic energy of
the electron coming out will be :

(1) 13.6eV (2) 3.4eV

(3) 10.2eV (4) zero

A charge particle is projected in a plane
perpendicular to a uniform magnetic
field. The area bounded by the path
described by the particle is
proportional to :

(1) the velocity
(2) the momentum
(3) the kinetic energy

(4) the angular momentum

The wavefront of a light wave
travelling in free space is given by
x +y+z=C (where C is a constant).
The angle made by the direction of
propagation of light with the X axis
1S :

(1) cos (1)

2) cos ' (1/~/2)
3) 90°

4) cos ' (1/+/3)
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127. 0.46 um ACE & T% GaAs Ui&sl &l

[
N

[
N

[BIR ott hv = 2eV ] Thad aoit
0 S B 11 B | B | |
AT IOTich o 5x10" cm ¥
gieesl W omufad AR 10 mW Rl
giest &R 9fd AbS  SEsivG g
Fott & ¢ [ ® exp(=2.3) = 0.1]

(1) 10° W

2) 9x10° W
(3) 5x10° W
4) 25%10° W

F & AB(A+B)(B+B) TH
2

(HASD 2 A D

(3) AB®& (4) AB %

T W A, TF Folgd WX 998 d
ACHT T T JqX I & g e
HEET T A TR SAEaae 1.2 s o
T A9 oEaeE & UEd e
AW 2 % gSH § PH FAN M
e & fom orgAiwa faQar eriss
QFN T ?

(1) 7000
(3) In2/1.8

2) 13
4) 36

Level-3/315

[36]

127. A 0.46 um thick sample of GaAs is

e

el

lluminated with monochromatic light of
photon energy hv = 2¢V. The absorption
coefficient o is 5x 10 cm . The
power incident on the sample is
10 mW. The total energy absorbed
by the sample per second is : [Given
exp(-2.3) =0.1]

(1) 10° W

2) 9x10° W
(3) 5x10° W
4) 25%x10° W

The Boolean expression
E(Z + B)(B+ B) is equivalent to :

(1) A (2) A

(3) AB 4) AB

In one experiment, a paperweight
suspended from a hefty rubberband
when made to oscillate had a time
period of 1.2 s and the amplitude of
oscillation decreased by a factor of 2
after three periods. What is the
estimated quality factor Q of this

system ?
(1) 7000 2) 13
3) In2/1.8 (4) 36



130. 20 cm UId T & di9 B UH €9 B

T N W IEH A 27X 10 m’
ggar &1 a9 # fFE uRadd & RO
59 99 @ AN Je1 ? (J9 & R
e AW TR 90F 17 x 10°PCR)

(1) 90°C
(2) 66°C
(3) 59°C

(4) 78°C

Th T8 W ER & o 9d u 9
AfS | FT 6 W IET T B SA
gt BF W g8 Afedd A @

Mt ® IR FAT B, D HH 39 UG
& fEd AT B :

(1) ucos®,7q & ad § A
(2) usin®, T & I7 § AT

(3) u,d & a7 & Ao

4 A

Level-3/315
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130.

[A]

The volume of a copper cube of side
length 20 cm increases by 2.7 X 10°
m’ as it is heated. What change in
the temperature of the cube caused
the volume to increases ? (The linear
expansion coefficient of copper is

17 x 10°°/C)
(1) 90°C
(2) 66°C
(3) 59°C

(4) 78°C

Consider a projectile launched with a
speed u at an angle O with the
horizontal. The average velocity of
the projectile between the instants it

crosses half the maximum height is :

(1) u cos O, horizontal in the plane

of motion

(2) u sin 0, horizontal in the plane of

motion

(3) u, horizontal in the plane of

motion

(4) zero
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132.

A pendulum is rigidly fixed to an
axle held by two supports so that it
can swing only in a plane
perpendicular to The
pendulum consists of a body of mass
M attached to a massless rigid rod of

the axle.

length L. The supports are mounted
on a plateform that rotates with
constant  angular  velocity Q.
the
angular frequency ® of pendulum
will be :

Assuming small oscillations,

1) Q

g 02
() ‘/L Q
(3) Jg/L

(4) Insufficient information

The sound of 40 decibels is :

(1) twice as intense as the sound of
20 decibels

(2) four times as intense as the
sound of 20 decibels

(3) ten times as intense as the sound
of 20 decibels

(4) hundred times as intense at the
sound of 20 decibels



U fag omas ¢ S el Mifw oy
WHF v I @ 2, d e fdd
ARy ud ARy fawal 9 ey 39
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2
(1) A(r, H="-V(r, 1)

C

@) A(r,)=-2V(r, 1)
C

2

(3) A(r,0)="5V(r, 1)
C

@) A(r,0)="V(r, 1)
C

M 3 e et 3 fom o A #
C, - C, & A 1.00 R & T 7aee
B # 7& 1.08 R B HMI P4, Py @I
Ta, Tp STl A @1 B & fou
A T UG Ml B ENT B R
qeq Aty gureer & £

(1) PA<Pg @A TA>Tg
(2) PA>Pg AT, < Ty
(3) PA=Pg @ TA< Ty
(4) PA>Pg @ T, =Tsg

T S Gere & agh el ©
(1) &I Td a9 & HArgywl
(2) A T AT & FATGARi

(3) &IcHeh T4 A9 & GehHIurdl

(4) FOTHE® Ud el &9 § Y
U ST

Level-3/315

[A]

134. For a point change ¢ that is moving

on a specific trajectory with velocity
v, the retarded scalar and vector
potentials are related as :

2
(1) A(r, t)="-V(r, 1)
C

@) A(r,)=-2V(r, 1)
C

2

(3) A(r,0)="5V(r, 1)
C

@) A(r,0)="V(r, 1)
C

The value of C, - C, is 1.00 R for a gas
sample in state A and is 1.08 R in state
B. Let P,, Py denote the pressures and
Ta and Ty denote the temperatures of
the states A and B respectively.
Maximum probability is :

(1) Pr < P3 and To>Tg

(2) P, >Pg and To< Ty

(3) P, =Pg and Toa< Ty

(4) PA > PB and TA = TB

The susceptibility of a diamagnetic
material is :

(1) positive and proportional to
temperature

(2) negative and proportional to
temperature

(3) positive and inversely
proportional to temperature

(4) negative and practically
independent of temperature

P.T.O.
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| e H TF B3 Y by THEHM
B AT 0 § HY T qHEHSTD
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ARaa & B 8% F "y AN @
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KoK
2) B=——
2) 5

3 =t
X

2u,K
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1317.

A rod of length [ rotates with a small
but uniform angular velocity ® about
its perpendicular bisector. A uniform
magnetic field B exists parallel to the
of
difference between the centre of rod

axis rotation. The potential

and anend is :

(1) Zero (2) %B(Dl2

(3) %B(olz 4) Bol’

Figure shows a cross section of a
large metal sheet carrying an electric
current along its surface. The current
in a strip of width dl is Kdl where K
i of
dimensions. The magnetic field at a

is a constant appropriate

point P at a distance x from the metal
sheet is given by :

*pP

!
@@@@@@@JL

(1) B=po K

KoK
2) B=——
2) 5

3 =t
X

2u,K
X

4 B=
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139.

[A]

An electric kettle has two coils.
When one coil is switched on it takes
15 minutes to boil water and when
only second coil is switched on it
takes 30 minutes to boil water. How
long will it takes to boil water when

both the coils are used in series ?

(1) 45 Minute
(2) 35 Minute
(3) 10 Minute

(4) 8 Minute

The shape of plot between p and %

for some intrinsic semiconductor

will be :
(p-resistivity of semiconductor at 7'

temperature)
(1) Parabolic
(2) Straight line
(3) Hyperbolic

(4) Rectangular hyperbolic
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141.

¥ aq @ TF HBRD & STTEhNY
(AF-ofeiie) o e &1 U

T B Yy = ¢ - S @

PRSP RERR CAEIRECTIS U
(1) (1+52)"

2) (-5

(3) (52-28)"

4) (1-52)

g e § sl wF fogd
TP T d HEw g &
E=E,sin(Kz—or)] &N R s
R WG TEHE 89 B 36 WK A
ST & (T8 K =2m/A)

— E R
(1) B=——"2sin(Kz—ot)i
c
- EO . S
(2) B=—=sin(Kz — ot)i
c
g EO . ~
(3) B=—==sin(Kz—t)j
c

4) B= 5sin(Kz — ok
c

Level-3/315
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141.

Y and ¢ are two non-orthogonal
eigen function of an operator. Find
the normalization constant for a

wave function " =@ - SW¥ :
(1) (1+52)"

2) (-5

(3) (§2-28)"

@) (1-52)

The electric field associated with an
electromagnetic wave travelling in
free 1S by

space given

E = E,sin(Kz — o1) ]. The

corresponding magnetic field B is

given as (Here K = 21/A) :

— E .
(1) B=-—""sin(Kz—t)i
c
- EO . N
(2) B=—"-sin(Kz—t)i
c
- EO . o)
(3) B=—=sin(Kz—t)]
c

@ B =Eosin(kz - on)k
C



143. T% WeH & T Fame d@e¥ed ® ¢

144.

(1) uud
(2) udd
(3) dds

(4) uds

frrifaiad #oMt W o #if -

(A) % el M & S &S
g, @ IGH A9 T & =Ry

(B) At T SHHFIGHT ThH H fohdl
REIREANIRC IR C Gl G I |
g, @ SHE EdT e &

Bl
(1) A T B 3Nt a2t 8
(2) A W 2 fhg B T @
(3) B @& & fg A T ©

(4) A T B g9 Tod &

Level-3/315

[43]

143.

[A]

The quark composition of a proton is :

(1) uud

(2) udd

(3) dds

4) uds

Consider the following two

statements :

(A) If heat is added to a system its

temperature must increase.

(B) If positive work is done by a

system in a thermodynamic
process, its volume  must
increase.

(1) Both A and B are correct

(2) A is correct but B is wrong

(3) B is correct but A is wrong

(4) Both A and B are wrong



[A]

145.

R S § ORd g0 0F  fHETE W
faR F BHETS F AT & fha
A @ B TR q HW &M ? (P,

g P, HAM: f6H TN @ ® @
§)

(1) Pice/Pw

(2) Pw/Pice

P
3) | — e
3 1=

w

) 1-

ice

2 kg ZHHM & Th $ B Fod A
9 & g9 P o= 372 & HFgEN
qEAA T & P AT T ¢ TS |
31 AR ¢ =0 W & H &M A 8,
T t = 25 W & & 97 (m/s H)
&I :

(1) 1

(2) 4

3) 2

@) 242

Level-3/315
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145.

Consider an iceberg floating in

seawater. What fraction of the
volume of iceberg is visible above
the water surface ? (P,, and P,
refers to the density of ice and the

density of seawater respectively)
(1) P ice/ P w
(2) P w/ P ice

P
3) | — e
3) e

w

) 1-n

ice

The power supplied to a particle of
mass 2 kg varies with time as P = 3712,
Here P is in watts and 7 is in seconds.
If the velocity of particle at t = 0 is
zero, the velocity of the particle (in

m/s) at time ¢ = 25 will be :

(1) 1
() 4

3) 2

@) 242



147,  FHEN 1 q0 2 T WHE W & A

e d@en & fea & Ak v, 3 v,
TFH: 3T Tl B AT T A, T Ay
T ol F wWegE vt @
frefia #%d §, a9

(1) A, =X,

A A
7y M _ M
(2) v,

G3) MV, =M\, V,
A A

() ===
A

Ul H T IS <h H T U9 (AT
% U qo o TRy oM & R g
a9 & UBY H M 2 cm & T T8
TH B aa ¥ 1 m SAE W B T
% UEY B AE 5 cm § I T8 <ol
H Al T 6 m HAE W Bl THT H
03 m SR ea & ufy fFe 1 atm
AN T W YA HAT 21 O D IRy
¥ gl @ T BT

(1) 2.55 m/s
(3) 7.96 m/s

(2) 15.92 m/s
(4) 1.27 m/s

Level-3/315
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141.

[A]

Two boxes 1 and 2 contains an equal
number of molecules of the same gas.
If V| and V, are the volumes of box
and A, and A, denote the mean free
paths of molecules in box 1 and 2

respectively, then :

(1) A, =7,

A A
9y M _ M
2) v,

G3) LV, =\, V,
Ao A
(4) ==L
SARA

A large water tank has an inlet pipe
and an outlet pipe. The inlet pipe has
a diameter of 2 cm and is 1 m above
the bottom of the tank. The outlet
pipe has a diameter of 5 cm and is 6
m above the bottom of the tank. A
volume of 0.3 m’ of water enters the
tank every minute at a gauge pressure
of 1 atm. The velocity of the water in
the outlet pipe will be :

(1) 2.55 m/s
(3) 7.96 m/s

(2) 15.92 m/s
(4) 1.27 m/s

P.T.O.
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149. ©p O A9d P U QuieET @ 149. The lagrangian for the simple

(mﬁgﬁ & A o %) . pendulum is (symbols have their
usual meaning) :

(1) ml®’—mglcos® (1) ml®’—mglcos®
I 542 1,42
(2) Eml 0 —mgl(1—cosB) (2) Eml 0 —mgl(1—cosH)
1 2 - 1 2 A
(3) Eml 0 +mgl(l1—cos0O) 3) Eml 0+ mgl(1—cos0)
| |
4) Emle—mglcosﬁ 4) Emle—mglcosﬁ
150. ©s ™ Zg TH I3 H H @I HEEC] 150. A hot liquid is kept in a big room.
T FT B A9 B AP A B The logarithm of the numerical value

of the temperature difference
AT B GHF & W A6 SR

ST 31 I SAfAfhedd &9 § B8R :

between the liquid and the room is
graphed against time. The graph will

be very nearly :

(1) T & &l

(1) a straight line
(2) TH g =AM

(2) acircular arc
(3) Uh T

(3) a parabola
(4) T g

(4) an ellipse

Level-3/315
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R @& @
IR TF F RN GHEF B X 3§ O SR IR T H
Sl

N
6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :

O @ ® ©®

The answer will be treated wrong;, if it is marked, as given

below :
O ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 3T OMR I TF T & ik H T II AFYIH

J
. 6 FE -G § 39 WM & [T @ T @l e W 8 # (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | IT oA o W o1 (ThE TYS) BTN
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. J% 99 & 0 RU U =R fowed § & S faecy & T OMR ST % W #ad 06 99 & & T 06 & a9 @R’e 0

¥ T TF IR IX Sifhd B B 9% 39 Sea Tel o Gl o (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

o=t gRfEa #X % 30 ST T B qYl T ¢ U6 S8 W HE AW MW T ) Tl iU STgHiE SuX T d
fraifa wm & sfafed o= 71 foreh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the
Answer Sheet.)

- T4 IR T B ANGEF T B, Fis HE A Rk § (997-gRaw SR =% F FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

E[SFT-W/ET‘R' =% ¥ RU T wEie B Tl 9l ade 9 swnR 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR ol TeAN W & ofoRe Rl ser @ argg-aren, gd o st s & afr,
JoR, MeEA B, gasli-es SUBT A Rl oF UK & |l & S a1 IWM HIA @ A Tel 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

T B U8 TN W TaE ol SToAT WAy #E (A o) iR wgAM U R@MW| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

&% e AT THAEE B AT STFAN $ AT HiE TRl STUAT WM 7 Bi| (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T 2 T T sWER 9 W AR sERR R faer erwd) qlen g 8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e Y a1 ¥ A e f 3ER I T e e’ & R T HET &
A AT STCT OMR S O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W M @ ] [ Qe @@ Aen § & a0 A i @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa UReheth B SYANT afotd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F R & Y, TRl feRlE & & T ubk/Ren-fRw 7 98 & o e @ e @ Ry em W@ sgRa
et & o T & e S » e wd e @ &R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR TR =% Eﬁg AN ST I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE FO BN W, TRl F /A Bled § [ S T H-THAEE B oA A A1 AR A WY 39 9e-gRAH B A

S R R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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